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General Instructions:
1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and
Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

ETS-31 / SECTION-A
Ted SEa 1 ¥4 F TAF 1 90 T
Question numbers 1 to 4 carry one mark each

31@1‘3:‘! ﬁgpaquﬁnm AC a1 AB W &5 samﬁm%ﬁ——_—ﬁmm 45cm
%1 AQ @ WIS

A 2 Qaés B
In the figure, P and Q are points on AC and AB rESpeCt!VElY Sthh that %=% and BQ=45
cm. Find AQ.
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Q B
# = A % & A cos E—E—E fefa!

5 B +C i terms of angle A. 1

£
2 T AABC
In a triangle ABC, write o
3 1 1.
T HIIT : +
gecl0  cosec’®
1
Seanplily sezzﬂ * coseczﬁ'
' 1
@ ompbm wAw @ oy FOEL ﬁ@mwmwmﬂﬁmm
T =12.4 3T A =105 & &1
< Find median of the data , using an empirical relation w
mode =12.4 and mean =10.5.

L)

hen il is given that

TS~ | SECTION-B

o e 5104 TEE 2 3i® 1

Question numbers 5 to 10 carry two marks e_ach.
mwﬁqiﬁMmﬂmwmmmmﬂ%n 2

Show that the numbers 143 and 187 are not co-prime.

’ 'ﬁ?ﬂiﬁmiﬁﬁ,mw«mm%mh?uﬁuh%,ﬁmamﬁwa?mﬁmﬁ 2

wWHE?,

Find whether decimal expansion of -lg:% is a terminating o
terminates, find the number of decimal places its decimal expansion has.
aamb%mnﬁ%:-mﬁwt@wmw%?mﬁmmﬁaﬁmm%? 2

2x-3y=7
ax+3y=b ,
For which values of a an
solutions ?
2x—-3y=7 )
' ar+3y=b o : .
8 35 em Yo7 A TF WA P 3 i o @ da g s

In an equilateral triangle of side 33cm, find the length of the a'ltitﬁdé.
9 : ' 2
AR sect + tand = p %, ﬁmﬁ%—-}{ coseco= 1 %1
2 ; ) p +
If secd + tan@ = p, show that
P -1

7
. p-+ L
10 ﬁﬁqwm@m%aﬂﬂ,mﬁvﬂﬂﬁﬁﬁﬂm@i ) Rt anet bl vl ¥

r non-terminating decimal. If it

d b does the following pair of linear equations has infinite number of

i
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cosecli= 1.
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17 32 cos(A -1
~ —-B= . . 2
If - _} ) €0sA cosB +sinA sinB &, A cosse 1 T T iy
CUS(A B) =COSA CosB + si " |
18 S - SINA sinB, evaluate cos15°
SnATT | [TsinA
1—-sinA SINAT1 = 2 secA
Prove that -
%
sinA+1 N 1-sinA
1-sinA ~ \sinA+1  25eA
19 Bl 3 :
"F?*'ﬁ"’ STHE A 44 8, T A (x) 7@ HA
?m' 0-20 20-40 40-60 60-80 80-100
If mean of the following data is 44, find the missing {requency (x).
Class 0-20 20-40 40-60 | 60-80 80-100
Frequency | 12 x 6 |7 9
20 150 WiierHl wReRi 1 =1 A orferel B 9 T B
A (T H)  [18ATW | 2T FW | 68 3 | 308 IR
qiferdt uies 150 135 113 92
&g (ol H) UAIW [38Few |28 W | 468 39
ferdt YRS 68 50 36 14
UIfcTHl MR 1 agerdh 31g i R |
The following data gives information on 156 policy holders holders :
Age (in years) | Abovel8 | Above22 | Above26 | Above30
No. of policy | 150 135 — | 113 92
Holders
Age (in years) Above34 | Above38 | Aboved2 | Above 46
No. of policy | 68 50 36 14
| Holders

Determine the Model age in the policy holder.
*  @UZ-g /SECTION-D .
W G 21431 1 TS F 4 3 T '
Question numbers 21 to 31 carry four marks each.
21 4fRTT fATT TETRe BT 134791, 6341 6339 1 HCF 914 HifAg |
Find HCF of numbers 134791, 6341 and 6339 by Euclid’s division algorithm.
22 WA +x3-72x2-18x H QA YHF 32 791 -34J2 ¥ 1 W 9 EE T A

Obtain all other zeroes of the polynomial 4x4+ x3 —72x2 18z, if two of its zeroes are 342 and
~342.
23 fam s weie g . R iy
y=2(x - 1) ,
4+ y=4
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Draw graph of following pair of linear equations :
!!""’2(:: - 1]
“‘x+yn4 ! .
a Also write the coordinates of the paints where these lines maets x-axis and y-axis. : Gt
DDA, 75+ ¥ 1 sioaeR TF o9 =e ¥ TRk v g stz o m M w WA 4
I ATE T AEE %M T A T W I AR e M A A s m W e AR A 2m A
xR D o FUE F 8T § 46 m2 T IS & ¥ 1k R ward oI < TR wife
* TR S S TR W R S € 7 '
DDA wants to make a rectangular park in the colony. If the length and breadth of the pe}rk is
decreased by 2 m, then its area will be decreased by 196 square meters. It.:s area will be
increased by 246 square meters if its length is'increased by 3 m and its breadth is increased by
2 m. Find the length and breadth of the park. - :
What is the importance of parks in our life ? ; .
25 ‘ﬁ:'szi'a’ffAD=3an,AE=5cm,BD-44m,CE=4m,CF=2m,BF=2.5m%,ﬁ'"m 4
a T = T e SR T i o 3 S
In the given figure, AD=3 cm, AE=5cm, BD=4mCE=%cm,CF=2 cm, BF=2.5 cm, then
find the pair of parallel lines and kence their lengths.
A
3cm Scm
D, E
2cm 4cm
B Z.SC!'I'IF ZCH\C N < K
26 iR Sgus ABCDH DT Ae-fig M3 T TarEve BM EiE T §, S ACHILRFED 4
& 3l AD =1 T2 R £ R frew € faz wifou f5 EL=2BLRI -
4 E
D/\‘i ¢

B _ o , i

?na parallelogram ABCD, the middle point of CD is M. A]mesegmmtBM
:s drawn which intersects AC at L and meets AD extended atE. Prove thatEL=2BL.
E ¢
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28

29

30

31

MR (cosb + sin) = 2 sin (90°— 8) &, T T3 fF (sind — cosh) = V2 cos0 ¥1
If (cosB +sinf) = /2 sin (90° - 6), show that (sinf —cos0) = 2 ccsh
T sinA + sin®A = cos?A @ faG FfT cosPA — dcosiA + 8cos2A =4
If sinA + sin3A = cos2A, prove that cos®A —4cos?A + 8cos2A =4
Fretafiga wdwias =i fag wifse .
tan0 + cotl

secl + 1  cosecd + 1
Prove the following identity :
tanf & coté

sech + 1 cosecl + 1
fFeafafas SiEmm 92 o aas 3 3l '3 55 F TR 3 a9 'S oS F yen 5 5 arEe
G FIS:

B 0-5 | 5-10 | 10-15 | 15-20 | 20-25 | 25-30 |

faafdgiwi @ |7 |10 | 20 13 I17,?T3

= cosech+ secli— sech. tanfl

= cosecl+ secll— secy. tanfi

Determine the median of the given frequency distribution by drawmg the two ogives (less
then tvpe and more then type): i

Marks 0-5 [ 510 10-15 | 1520 | 2025 | 25-30
Numberof Students | 7 |10 |20 | 13 17 |13

Retataa ariEra 529 &1 9189 28 B 1 97 #iad
(a) gu = CRE] (b) Sl w&@ﬂm

Feal SHEAl F | T GEml @
0-10 12

10-?0 18

20-30 27

30-40 P -
40-50 17

50 - 60 6

The mean of the following frequency distribution is 28. Find (a) the missing frequency (b) th
median of the series.

Profit of Retail | Number of
shop(in%y - | Retail shops (f)
0-10 12
10-20 18
20-30 27
30 - 40 P
40-50 17
50-60 6
-0000000-
Al
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